B3I 2E S E TR I EFHER Z AR

e A ®| 78 248 |#F
252 | BB E8 |, Bl% pawamsz [ 12: 52 %) &8 HE
wHeulET)2pE & T : BL/ #1405 km/h
T E A M|1]|2|3|4a]s]6]|7|8|9]10]11]12[13[14][15|R|H]|E :';;n;m)
rArEAR | |02 2 Adorty - (42022
r@mm |0[0]0
(BY) - BB T 4o 12 -4} % 28 EIH 38 95
TM1 2 3 4 5 6 7 8 9|ZMEMmNMIM1 2 3 4 5 6 7 8 9|K) &nn: 1LE
%(“Eﬁ;;("“l’“>@““7””§%ﬁ§ KD E@E @ DG EL € & 308" km/h
E@Q;‘r@@/’%aﬁ%%ﬁ@_ gzﬁﬁlmtmmm% iQZSmZMA}
%gém)rlmg)\\$m {@g@%msmmmw =
(B (B (B B) (# &) (&) (%K) ) () (%) (&) () (K) &) (&) () (%)
| E)& [aoH3. Jgﬁu'y;}:g, W 38w g () %&HT:
l ge@%zﬂfgrze = 7 (L) ] %@ﬂ}gi‘%s‘%‘rx'g?'é'ﬂﬁ“ 524 km/h
2B Q0 B B bE |35 = A
“ﬁz?g(‘rm)—ﬁm ¥ Bt 1 BB T8 Doy
3 §57H p(, = KCI\_ESSJ“W'@ L# 2.6 (g) —2Bot
+ ﬁcwl cbrapsc' Blzét]zm‘xr é%«xﬁu‘ &
LB&w = Ts ~ 6 GY@ | E3IEK 10761 ||0Bres- e B 2> oom) 53

9ER £ by 3t

LEE -2 —>6q, 217 (141)

e D OK-
LB B S 22 SK

o t IS
& lo%ESeg 04 > T (90 ®) 2 B Q8 2= 51y 3an
81977 @) @ [2EQDF VD) —5r | F 35
' %Gg ;;‘! @g') ,( Y_-l(,—?v(l‘f)"!"'ﬁm LFE 230 . %5&7 16 <330

l%;ps el ce ce—7Ml<

K Z] © >
3 B350 35 Raon 5 meaes)

4‘%017\ 1 glcﬂ(zsf)‘-%sq(zw) 'f}qs[s

3B BBy b2 Besn [SBL S5 230 LE sk
& + B 8- & B B r %
%—ZE% 2570 240> |k H%@i@l)@ =5 2~ @ %4‘@%{
b §%§B E?r b7’ xa Fs->zf(42u"’3 L& /‘25” ‘7§?m’+ Dm‘cs IMK
1 & Aghl Flgﬁf’/(g) 7 3a ) ﬁas xm*‘ﬁi‘r ﬂ 1%]0‘1@31) EA%FBBL 8 &wm ﬂqygs 1l Yower 531
R BN O Fna Bm Bea pi LB ws@ i e Ges) | HF - 9047 @ $8v
L& 7 88 (of) = 3wy LEAD—6 @ 33 q B, E B
& b & > 3(upy = 1Bout B &) ¥ -
§2ev7 & &
4BHs f :Zn/éﬂ(z‘rﬁ)@ 377 &
58183 18555 3|9 BE ‘Eﬂ@cw'%@u“;m &
b B G WX 2> S )b DB D & oy 2 et &




T E A M|1]2]3]4]s]6]7]8]o][to]t1]12[13][1a[15[R[H]E
ragx (ol TiTi]olo b19[2
Zr &k |olololo]o]|o]|0]| | 16 14
B 2o 8LE77 AR §E®T OB D58 O I
L&, Bsﬁéei'v("emw?«@ 3B Danis S Be Py %c?e“?%nSK
% TE - 5@78’ SJ:E g6 7 SK L& e b (}"5’1_%/ 7€) 139 %15 ng s ,1.;37. g > BB [-23v
& 5& (rRAg BB Doy o — 5 5V E®
§‘H'€J%1 (77 7S 4%&5%?(1@)@—% 23| & 2330 @{Z?
5 BL.2 om O e A D& o) LE Zome > 8 S G
L B2b6 > L (9) D Sout 5&eFaL L3 2wt 230 &

b Bipy 2 Sqew) — |7 |Bar

b%@ hs;‘éﬁ % zf&i‘%‘

g 3ely7 Q@

7BR Zs D Tasn) L

LED & ]

38w 2R B 6574

& 185 & ami B DG (B0 o) 230
§50% L& 23 (9) = |Bout 4B R B 3 B B
z%me o 5/7%?5‘@ E | B LEIBRB 23w
3% 07 Low 230 239 870 @UWSUTT 5 BL T 5 s b
4+EH 39 7(5%) @ 133w # @)= OF 2 b (5) = 2Ban ~ 31 (i
S%ﬁ ps> B 29L) =6 &) 3§ E.s ,wab B wcsﬁu L& 3
LE (34 LED. MK b BLy Besr)  Fr D T06) @)
b BB A 2 A R |4 B R 2B 3 BB o4 (5 B0 GfiT)
L& - 23 SERDG &l TEITD- % Zer DB (2spL)
L’%%z): MK L& =4 (or) — Jeut &
% % %
8517 §75v7 ] %
B & Tpow @ermn  [3ER G [aDcsz‘eQ) fce 274 |® &
9 &L C\b:> 931 ‘7%%53 757 vcs &= 8(251@ % *g\;ﬁ 130 71 km/h
B 2 > B © 0 0B B2, 1B B |3 A
1%735 %x‘z?mc;b c5—7/‘7\(17R) L% 150_7 400) 5 30q 230 A(TF*)#H3
& 2% % wnre zlz’ﬁfF&‘zw%‘S‘
§6@% O35 Al |LELA cmcm) cas EhRe e
TER P > F7 e -3 o E| B Dy U5 9 301 ()%
g&ED P :7 L) 23t 30| B ® km/h
Q&L 5r) s > T am-6 133 & QEE 2 2
LE @) b B D @) e T
lo B Zera = B (3R — ¢ @) B~ |bF > ?CFﬂl)

2BR dr 9E q > 2Bt

7§F2— ot = b4 W€ 130




Kat| G103 RES S ZRITIEFH EAE AL

H

S5

=58 GHE B v E L S

LSS

Han| e LRk

T ESL

T E A M|1|2]|3]|4]5

]

10

11

12

13

14

Axtax | 1ol2]1]i

resarsaelielelielle

Q|0

o>
BN m

8 IrlE WL D G-

288 I8 £ i

L-)% ﬁi({o} - 3"’/1

3ER A D Ez‘%z%@‘rf@q

B0

U~
¥ %gsﬁpw&l‘gﬁ;s -9 MK

5 %hmstb‘gz . gilsrl_)“{

&

§7077 @ U28E

BEE- &8 202bun

L‘?% = Sour

9&m <8 %) D Pz B

LEE 25 P SK

}(7)% hg‘;{}-f} f?i@zﬁ) — )2 Bt

& ;i\\%j |4-28S

(D [ EDH | EDR | EDR | EDH | EDR | EDR | EDH | EDR | EDR | EDR | R | EBH | EBK | BB | BB

[

km/h

R | ER | DK [ EDR | EDR | EDK | EDR | EK | K (DK EDR | 3K | M | K (R

B | BH | BH | EDR | EDR [ EDH [ EDH [ EDH (DK | EDR | DR | EDH | DK (DR | EDR | DR | DR | EDH (DR | D | DR | DR | EOH | EDH | DR | BB | DK DK | BB | BB

km/h




km/h

()%&H:

km/h

T BE A M([1]2]|3[4]|5[6]|7]|8|9]|10|11|12]13|14[15|R|H]|E




